



Nome: \_\_\_\_\_

Encontro: Data: \_\_\_\_\_ Pontuação: \_\_\_\_\_

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right) + \frac{1}{5} =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right) - \frac{1}{3} =$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{4} =$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right) + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right) - \frac{1}{3} =$$



Nome: \_\_\_\_\_

Encontro: Data: \_\_\_\_\_ Pontuação: \_\_\_\_\_

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{3}\right) = \frac{61}{192}$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{1}{6}\right) = \frac{37}{216}$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{57}{320}\right)$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{2} = \frac{71}{250}$$

$$\left(\frac{1}{2}\right) + \frac{1}{5} = \frac{7}{10}$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{2}{5}\right) = \frac{37}{80}$$

$$\left(\frac{1}{5}\right) - \frac{1}{3} = \left(-\frac{2}{15}\right)$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{6} = \left(-\frac{1}{150}\right)$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{6}\right) = \frac{35}{216}$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{3}{4}\right) = \left(-\frac{11}{12}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{4} = \frac{1}{2}$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{2}{5}\right) = \frac{437}{1080}$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{18}\right)$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{4}\right) = \frac{93}{500}$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{3}\right) = \frac{11}{48}$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{4} = \frac{61}{100}$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{2}{5}\right) = \left(-\frac{11}{15}\right)$$

$$\left(\frac{1}{2}\right) + \frac{1}{2} = 1$$

$$\left(-\frac{1}{2}\right) - \frac{1}{3} = \left(-\frac{5}{6}\right)$$